Exercise 1.1

1

Do these additions.

a -3+4 b 3+-7 c —4+-4 d
Do these subtractions.

a -1-35 b 3--5 c -3i-7 d
Work out:

a 4+-6 b 4--6 c —d4+6 d

Work out the missing integers.

a 6+ =10 b 6+ =4 ¢ 6+ |=-4 d
Two mntegers add up to —4. One of the integers 15 5. Work out the
other mteger.

—1 and 7 15 a pair of ntegers that add up to 6.

a  Fmnd four pairs of integers that add up to 1.

b How can you see immediately that two mtegers add up to 17

® and & arc two integers.
a  Show that @+ A and & +® have the same value

B Do® - & and & — @ have the same value? Give evidence to

Justify your answer.

Copy and complete this addition table

s |46 -2
3 9
-5

Copy and complete these addition pyramuds. The first one has
been started for vou.

6+ |=0

A “pair of
integers’ means
‘two integers’.

a | g In part a,
| 3+-5=-2.
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10 Estimate the answers to these questions. Round the numbers to the
nearest whole number,

C

C

12 a

~3.14+48.26 b -593-6.37
32--0.73 d -13204-54
11 Estimate the answers to these questions,
~67+ 24 b -82-47
h88—--512 d -2434-514 _
Work out: 4
| -34de-s i) .
Mmoo -3+-5+4 v -3+4+-5 1 - —Siﬂ
Whatldn the answers to part a show! Is this true for any { the answer
three integers”

Think like a mathematician

o m o

Copy and complete this additio

Add the four answers inside A Sl
Add the four inteqg e 5l op of the addition table. | 4
What do you notica abot answers ta parts b and ¢? s this 3

true for any addition table? ence to justify your answer.

How did you do the nvastigation in part d? Could you improve your method?

1 14 Three integers are equally spaced on & number line. Two of the integers are -3 and 7.

What 15 the other integer” Is there more than one possible answer?

b Compare your answer with a partner’s Cntique each other’s method.



